Check for updates

OPEN ACCESS

EDITED BY J. Luis Espinoza, Kanazawa University. Japan

REVIEWED BY Zhongzhou Yang, Beijing Genomics Institute (BGI), China Xiaoyan Zhang, Fudan University, China

*CORRESPONDENCE Jerzy Ostrowski jostrow@warman.com.pl

[†]These authors have contributed equally to this work

SPECIALTY SECTION This article was submitted to Gynecological Oncology, a section of the journal Frontiers in Oncology

RECEIVED 28 July 2022 ACCEPTED 05 September 2022 PUBLISHED 28 September 2022

CITATION

Zeber-Lubecka N, Kulecka M, Lindner B, Krynicki R, Paziewska A, Nowakowski A, Bidzinski M and Ostrowski J (2022) Increased diversity of a cervical microbiome associates with cervical cancer. *Front. Oncol.* 12:1005537. doi: 10.3389/fonc.2022.1005537

COPYRIGHT

© 2022 Zeber-Lubecka, Kulecka, Lindner, Krynicki, Paziewska, Nowakowski, Bidzinski and Ostrowski This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.

Increased diversity of a cervical microbiome associates with cervical cancer

Natalia Zeber-Lubecka^{1,2†}, Maria Kulecka^{1,2†}, Bogusław Lindner³, Ryszard Krynicki³, Agnieszka Paziewska¹, Andrzej Nowakowski⁴, Mariusz Bidzinski³ and Jerzy Ostrowski^{1,2*}

¹Department of Gastroenterology, Hepatology and Clinical Oncology, Centre of Postgraduate Medical Education, Warsaw, Poland, ²Department of Genetics, Maria Sklodowska-Curie National Research Institute of Oncology, Warsaw, Poland, ³Department of Gynaecological Oncology, Maria Sklodowska-Curie National Research Institute of Oncology, Warsaw, Poland, ⁴Department of Cancer Prevention, Maria Sklodowska-Curie National Research Institute of Oncology, Warsaw, Poland

The cervical microbiome (CM) is a complex ecosystem that can change in response to gynecological cancers. We aimed to evaluate changes in the CM of patients who underwent chemoradiation (CRT) therapy for locally advanced cervical cancer. Before and after CRT, cervical swab samples were collected from 16 patients with squamous cell carcinoma of the cervix, and 30 healthy women. All samples were subjected to 16s rRNA-Seq analysis. In healthy premenopausal women the CM comprised mostly Lactobacillus (>90%); the CM community in samples from both pre- and postmenopausal pre-treatment cancer patients was heterogeneous, with a low proportion of Lactobacillus in younger cases. On the genus level, 27 and 11 taxa differentiated healthy controls from cancer patients in pre- and postmenopausal age groups, while 31 and 2 genera differentiated pre- and post-radiation samples and preradiation and the follow-up samples, respectively. Microbiome diversity was significantly higher in pre-treatment patients than in healthy controls. The results reveal significant alterations in the CM of cervical cancer patients relative to that in healthy controls; these changes were more striking after CRT. However, further research is needed to determine whether alteration of the CM offers new therapeutic options.

KEYWORDS

cervical microbiome, chemoradiation therapy, 16S rRNA gene sequencing, lactobacillus, postmenopause

Introduction

Collectively, human microbiotas and their genomes are called "the human microbiome". There is high variation in the microbiome communities at specific body sites and within individuals (1, 2). Microbial communities in the gastrointestinal tract train the immune system, protect against opportunistic pathogens, and harvest nutrients and energy from non-digestible carbohydrates (3). Like the gut microbiome, the cervicovaginal microbiome is a complex ecosystem that broadly acts to maintain a woman's genital tract health and comprises 20-140 bacterial species, of which Lactobacillus species are the most abundant. The lactobacilli abundance is age-related and depends on the estrogen levels, contributing to production of organic acids, primarily lactate, from glucagon deposited in the mature vaginal epithelium. In turn, acidifying of the vaginal ecosystem provides a protective barrier against viral and bacterial pathogens (4-6). After menopause, the lack of estrogen lead to a decrease in Lactobacillus and an increase in anaerobic bacteria in the vaginal flora (7). However, various other factors, including ethnicity, sexual activity, hygiene habits, lactation, and dietary factors can also affect the composition of the vaginal microbiota (1, 8-12). Alterations caused by immune regulation and inflammation lead to, or are associated with, several gynecological pathologies, including bacterial vaginosis (BV). BV represents a shift from a Lactobacillus-dominant to a polymicrobial microbiome with an increased abundance of anaerobic bacteria, such as Gardnerella vaginalis, Peptostreptococcus anaerobius, and Porphyromonas uenonis, and is associated with the progression of Human papillomavirus (HPV)-related cervical intraepithelial neoplasia and cancer risk (4, 13-20).

Curative or palliative radiation therapy (RT) and chemoradiation therapy (CRT) for gynecologic cancers may alter the composition of the cervical microbiome (CM) (21). A previous pilot study showed a strong reduction in cervical bacterial load after RT, with no changes in alpha or beta diversity (4). Another study reported that on the genus level, 13 phylogroups differentiated pre-RT from post-RT samples, and showed that most post-RT microbiota communities did not overlap with the communities in the normal microbiome. Yet another study reported a trend toward lower microbial richness in healthy samples relative to samples from patients with gynecological cancer (22).

Here, we used 16S rRNA gene amplicon sequencing to evaluate changes in the CM of patients who underwent CRT for locally advanced cervical cancer. While the lactobacilli abundance dominated CM of premenopausal healthy women, both pre- and postmenopausal cancer patients showed higher CM diversity than those found in both groups of healthy controls. The cancer-related composition of CM was further altered by CRT.

Materials and methods

Patients and controls

Sixteen patients (median age, 56 years; range, 25-62 years) with squamous cell carcinoma of the cervix who were indicated for primary RT were recruited. Of them, 6 patients (age 25-54) were classified as premenopausal or perimenopausal and 10 others (age 54-62) as postmenopausal, according to STRAW guidelines (23). Before treatment, the clinical stage was determined according to the International Federation of Gynecology and Obstetrics (FIGO) staging system (24). All patients received definitive RT comprising external beam radiation therapy (EBRT) and brachytherapy (ICBT). EBRT was performed with a total dose of 46 or 50 Gy, administered to the whole pelvis, followed by three fractions of ICBT (each as a single dose of 7.5 Gy) delivered to the cervix and residual tumor in all but one patient. All but two patients received concomitant cisplatin-based chemotherapy (40 mg/m² body surface area) once a week for 5-6 weeks. The patients were followed between 2.5 and 4 years, and two patients relapsed for more than 2.5 years after the end of treatment. Patient characteristics are shown in Table 1.

Cervical swab samples were collected aseptically from each patient using 4N6FLOQSwabsTM (Thermo Fisher Scientific, USA) 1 day before starting EBRT, and then again on the day on which the last fraction of brachytherapy was given. In addition, swab samples were taken from nine and seven patients 3 and 6 months later, respectively. Exclusion criteria included other gynecologic cancers (ovarian, endometrial, or vulvar cancer), pregnancy, and treatment with antibiotics or antifungals for at least 2 months before enrollment.

The control group comprised 30 healthy women (median age, 51 years; range, 27–59 years) who were recruited under the human papillomavirus-based cervical cancer screening program. They were HPV negative and had normal Pap smears; none of them was on hormone replacement therapy.

All enrolled cervical cancer patients and controls were Polish Caucasians. Each swab sample was transferred to a clean collection tube and stored at -80° C within 1 hour of collection.

DNA extraction and 16S rRNA sequencing

Microbial genomic DNA was extracted from swab samples using a PureLinkTM Microbiome DNA Purification Kit, according to the manufacturer's instructions. The concentration of bacterial DNA was measured using a Nanodrop ND-1000 spectrophotometer (Thermo Fisher

Age (years)	FIGO Staging	Smoking	Diabetes	HT	EBRT	ICBT	Cisplatin	Relapse
49	IIb	+	_	+	46 Gy	3x7,5 Gy	+	_
54	IIIb	+	-	-	50 Gy	2x7,5 Gy	+	-
55	IIb	-	+	+	46 Gy	3x7,5 Gy	+	-
54	IIb	-	-	+	46 Gy	3x7,5Gy	+	-
35	IIIb	-	-	+	46 Gy	3x7,5 Gy	-	-
62	IIa	+	+	+	46 Gy	3x7,5 Gy	+	-
62	IIb	+	-	-	46 Gy	3x7,5 Gy	+	-
40	IIIb	+	+	-	50 Gy	3x7,5 Gy	-	+
48	IIb	_	-	-	46 Gy	3x7,5 Gy	+	-
61	IIb	_	-	+	46 Gy	3x7,5 Gy	+	-
57	IIIb	_	-	-	50 Gy	3x7,5 Gy	+	-
60	IIb	+	-	+	46 Gy	3x7,5 Gy	+	-
58	IIIb	+	+	-	46 Gy	3x7,5 Gy	+	-
25	IIb	-	-	-	46 Gy	3x7,5 Gy	+	-
62	IIb	-	-	+	46 Gy	3x7,5 Gy	+	-
61	IIIb	-	-	-	50 Gy	3x7,5 Gy	+	+

TABLE 1 Clinical characteristics of the enrolled patients with cervical cancer.

FIGO, International Federation of Gynecology and Obstetrics; HT, Hypertension; EBRT, radiation therapy; ICBT, brachytherapy.

+, positive; -, negative

Scientific, USA). DNA was stored at -20°C until further analysis. Bacterial 16S rRNA libraries were prepared using an Ion 16STM Metagenomics Kit (which allows a consensus view across six regions: V2, V3, V4, V6-7, V8, and V9) and an Ion Plus Fragment Library Kit, as previously described (25-28). Next, 16S rRNA gene libraries were sequenced on an Ion Torrent Personal Genome Machine (PGM) platform (Thermo Fisher Scientific, USA) using Ion PGMTM Hi-QTM View OT2 and Ion PGMTM Hi-QTM View Sequencing Kits.

Statistical and bioinformatic analysis

Unmapped BAM files were converted to FASTQ using Picard's SamToFastq (29). Additional steps of the analysis were performed using Mothur version 1.38 software (30). FASTQ files were converted to the FASTA format. For analyses, only the sequences that were 200-300 bases in length, with an average base quality of 20 in a sliding window of 50 bases, and a maximum homopolymer length of 10 were kept. Chimeric sequences were identified with the UCHIME algorithm using default parameters (31), with internal sequence collection as the reference database. Chimeric sequences were removed, and the remaining 16S rRNA sequences were classified using the Wang method and the SILVA bacterial 16S rRNA database (32) for reference (release 138), at an 80% bootstrap cut-off. Lactobacillus species identification was based on reclassification to Greengenes 13.8.9 database (33). The nonparametric Shannon diversity index and the Chao richness index were determined with Mothur. For further analysis, sequences classified as chloroplasts, mitochondria, unknown, Archaea, and Eukarya we removed as recommended (34). Counts on genus level

were obtained with MEGAN5. Bray-Curtis indices and PCoA analysis were performed with MEGAN5 (35). Differences in the abundance of taxa between groups were assessed with ANCOMB-BC (36). Mann-Whitney U-test was applied to determine differences in diversity indices between control samples and pretreatment samples and Wilcoxon paired test was used to determine statistically significant differences between paired patient samples. FDR-adjusted p-values smaller than 0.05 were considered significant. Bacteria respiratory status (Aerobic/ Anaerobic/Facultatively Anaerobic) was obtained with BugBase, using Greengenes taxonomic annotations (37).

Results

A total of 70 cervical swab samples were collected; of these, 40 samples were taken from 16 cancer patients: one sample from each patient, a day before starting EBRT and one after the last fraction of brachytherapy was given, and additional samples were taken from 9 and 7 patients 3 and 6 months later (the follow-up samples), respectively. From each of the 30 healthy controls, one sample was obtained. While all healthy women were HPV negative, the HPV status of cancer patients was not analyzed. Bacterial DNA extracted and purified from the swab samples was used for PCR amplification of bacterial 16S rRNA gene hyper-variable regions. Prepared libraries were sequenced using the PGM platform. For all but one sample with only 5083 reads, sequencing generated 37104-676457 (median, 127741; mean, 178047) reads; all of them passed quality control and 94-100% (median, 100%) of sequences were classified using SILVA database version 138 as a reference, and then assigned to *Bacteria* and *Archaea* taxa. The number of sequencing reads differentiated control samples (range, 77074-676457; median, 223136) from pre-treatment cancer samples (range, 37104-288927; median, 100536), p-value in Wilcoxon's test=2.082e-05. Of 814 taxa (115 found in more than 0.01% of reads), 471 (72) were detected in both groups, while 145 (22) and 198 (38) were detected only in healthy controls and cervical cancer patients, respectively.

Of 46 women included in this study, 21 (6 cancer patients and 15 healthy controls) were premenopausal women and 25 (10 cancer patients and 15 healthy controls) postmenopausal women. After excluding one patient with the low number of reads in the pre-treatment sample and one post-treatment sample with <75% of classified sequences, similarities between the CM community structures of the healthy control and pre-treatment cervical cancer groups, representing either premenopausal or postmenopausal cases and controls, were evaluated using principal coordinate analysis (PCoA) of Bray–Curtis distances. Twelve of the 15 CM samples from premenopausal healthy women and 7 CM samples from postmenopausal healthy women clustered together (Figures 1A, B), and both pre- and postmenopausal healthy groups were clearly separated from the corresponding cancer groups.

The lactobacilli abundance depends on estrogen levels [34]. The proportion of *Lactobacillus* in the CM ranged from 0.01% to 99.91% (median, 94.99%) and from 0.04% to 45.27% (median, 0.12%) in premenopausal controls and cases (p-value 0.005), while in postmenopausal groups *Lactobacillus* abundance ranged from 0.022% to 99.67% (median, 1.08%) and from 0.005% to 96.87% (median, 0.07%) in controls and cases, respectively (p-value 0.1) (Figures 2A, B).

Eight (62%), 1 (8%), and 4 (30%) of 13 premenopausal healthy women with noticeable lactobacilli levels were dominated by *L. crispatus* (range, 46-94%), *L. iners* (100%) and *L. unclassified* (6-100%), respectively, and 7 postmenopausal healthy women were dominated by *L. iners* (2 women), *L. unclassified* (3 women) and *L. crispatus* (2 women). One woman had also noticeable levels (46%) of *L. delbrueckii*. All 4 CM of cancer patients with noticeable lactobacilli levels were dominated by *L. iners* (>99.9% of all lactobacilli reads).

We next analyzed proportion of aerobic and anaerobic bacteria among the studied groups of patients and controls. While significantly lower (p-value=0.0027) and higher (p-value=0.013) percentage of anaerobic and aerobic bacteria, respectively, was found in premenopausal compared to postmenopausal healthy women, no similar differences were observed between pre- and postmenopausal cancer patients (Figures 3A, C). In addition, significantly lower (p-value=0.011) and higher (p-value=0.0037) percentage of aerobic and anaerobic bacteria, respectively, was found in premenopausal cancer patients compared to premenopausal control. In comparison of postmenopasal cancer patients and controls similar trends were observed but the differences did not reach statistical significance (Figures 3A, B).

A "core" CM of premenopausal healthy women (genera with a prevalence >70% and a detection level >0.001%) comprised six



postmenopausal cases and controls



legend includes only the most abundant bacteria.

genera, one of which were present in all samples, and a core CM of postmenopausal controls comprised 11 genera, 4 of which were present in all samples (Figure 4B). CM community structures in pre-treatment samples from cancer patients were much more heterogeneous with the core CM which comprised 21 and 22 taxa, 14 and 9 of which were present in all samples in pre- and postmenopausal cases (Figure 4).

Next, we compared differences in taxonomic abundance between control individuals and pre-treatment cancer patients. To identify the specific bacterial taxa associated with cervical cancer, we compared the composition of the CM on the genus level, separately for pre- and postmenopausal women. Twenty seven and 11 genera differentiated healthy controls from cancer patients in pre- and postmenopausal age groups, respectively. Seven of these genera: *Porphyromonas, Fusobacterium, Peptococcus, Peptoniphilus, Moryella, Stomatobaculum*, and *Gemella* differentiated both groups and the first four are also highly abundant, with more than 10000 reads each (Table 2). Additional 12 and 1 differential genera are highly abundant in pre- and postmenopausal patients, respectively, including core genera for CM microbiota, *Lactobacillus* (in premenopausal patients) and *Gardnerella* (in postmenopausal samples). The number of differential taxa dropped to 18 and 9 in post-radiation samples in pre- and postmenopausal women respectively (Supplementary Table S2).

The observed microbiome diversity, as measured by the Shannon index (non-parametric), was significantly higher in pre-treatment patients than in healthy controls (Figures 5A, B) regardless of the cases and controls hormonal status. No significant differences were observed for species richness, as measured by the Chao index (Figure 5B), in both pre- and postmenopausal groups.



Comparison of pre-radiation and post-radiation samples

The number of sequencing reads from pre-radiation samples (range, 37104-288927; median, 100536), samples collected immediately after the treatment (range 46747-

488737; median, 74075) and 3 and/or 6 months later (range 55295- 437511; median, 72950) did not differentiate preradiation and post-radiation samples. Of 669 taxa (148 found in more than 0.01% of reads) found in 40 samples of cancer patients, 376 (39) were detected in both pre- and post-radiation samples, while 69 (20), 155 (32), and 36 (0) were detected only



in pre-treatment samples, samples collected immediately after the end ICBT and the follow-up samples, respectively. PCoA performed on the taxa data from the cancer patient samples, basing on Bray-Curtis distances, roughly differentiated preradiation from post-radiation samples, while differences were not noticeable between the post-treatment samples and followup samples (Figure 6).

On the genus level, 31 genera differentiated pre- and post-radiation samples, while only 2 differentiated preradiation and follow-up samples. Among the most abundant differentiating genera were *Streptococcus*, *Prevotella*, *Fusobacterium*, *Porphyromonas*, and *Finegoldia* (Table 3). There were no significant changes in CM diversity nor richness between pre-radiation samples and post-radiation samples, or the follow-up samples (Figures 5C, D).

Significantly higher percentage of anaerobic bacteria was observed in pre-treatment in comparison to post-treatment samples (p-value=0.0034). In contrast, an increased percentage of facultatively anaerobic bacteria was found in post-treatment patient (p-value=0.0049). No significant difference was found for anaerobic and facultatively anaerobic bacteria at follow-up samples. No similar findings were not observed in the aerobic bacteria abundances (Figures 7A, B).

Discussion

Here, we firstly compared the CM of healthy women with those of cervical cancer patients. The CM was dominated by

Lactobacillus in 12 of 15 premenopausal healthy control samples and in one (a 25-years-old cancer patient in whom the percentage of *Lactobacillus* reached only 45.27%) of 5 samples collected from premenopausal cancer patients before treatment, and in 7 of 16 postmenopausal healthy women and 3 of 10 postmenopausal cancer patients. CMs of 10 and 3 of 20 healthy women with the noticeable lactobacilli levels were dominated by *L. crispatus* and *L. iners*, respectively, while all 4 CMs of cancer patients with the noticeable lactobacilli levels were dominated by *L. iners*.

In women with a Lactobacillus-dominated CM, vaginal anaerobic metabolism of glycogen to lactic acid acidifies the vagina to a pH of <4.5. The resulting acidic environment defends the vaginal mucosa and cervical epithelium against cervicovaginal dysbiosis and vaginally transmitted infections. A vaginal microbiota dominated by Lactobacillus is considered to be a marker of a healthy vagina and vice-versa (8). However, the composition of the vaginal microbiota is affected by various factors, including menstruation, sexual behavior, hygiene habits, lactation, use of antibiotics, prebiotics, and probiotics, and dietary factors (1, 8, 9); even daily dynamic changes in the vaginal microbiome have been reported (10-12). In reproductive-age the predominant factor inhabiting the healthy vagina with lactobacilli is estrogen and, therefore, in postmenopausal women, the decreased levels of estrogen make that lactobacilli are no longer the dominant bacteria of the vaginal microbiome (6, 40, 41). It is also considered that cervicovaginal microbiomes with high levels of L. crispatus relate to healthy individuals, while those dominated by L. iners may relate to cervical cancer alone (6). Our findings indicate that a shift to a TABLE 2 Bacteria on genus level differentiating healthy controls and pre-treatment samples.

Genus	coef	se	test statistic	p-value	adj p-value	Age group	Abundant	AE/AN
Arcanobacterium	2.03	0.54	3.77	1.65E-04	6.90E-03	postmenopause		AN
Fusobacterium	3.65	1.01	3.63	2.84E-04	9.49E-03	postmenopause	yes	AN
Gardnerella	-4.12	1.20	-3.42	6.19E-04	1.72E-02	postmenopause	yes	AN
Lentilitoribacter	-1.17	0.39	-2.97	2.94E-03	4.46E-02	postmenopause		AE
Gemella	-2.01	0.67	-3.00	2.68E-03	4.46E-02	postmenopause		AN (F)
Moryella	2.63	0.85	3.09	2.02E-03	3.98E-02	postmenopause		AN
Mesorhizobium	-1.71	0.44	-3.94	8.29E-05	4.62E-03	postmenopause		AE
Stomatobaculum	2.45	0.80	3.07	2.15E-03	3.98E-02	postmenopause		AN
Peptococcus	2.74	0.89	3.08	2.10E-03	3.98E-02	postmenopause	yes	AN
Peptoniphilus	2.66	0.61	4.38	1.21E-05	1.01E-03	postmenopause	yes	AN
Porphyromonas	4.66	0.82	5.66	1.54E-08	2.58E-06	postmenopause	yes	AN
Parvimonas	5.23	1.04	5.05	4.46E-07	8.78E-06	premenopause	yes	AN
Aminobacter	-2.09	0.65	-3.20	1.35E-03	7.99E-03	premenopause		AE
Atopobium	3.99	1.45	2.74	6.09E-03	2.76E-02	premenopause	yes	AN
Bulleidia	3.17	1.02	3.09	1.98E-03	1.11E-02	premenopause		AN
Acinetobacter	-1.42	0.50	-2.85	4.32E-03	2.08E-02	premenopause		AE
Peptoniphilus	3.85	1.13	3.41	6.43E-04	4.46E-03	premenopause	yes	AN
Anaerococcus	4.11	0.91	4.53	5.97E-06	7.83E-05	premenopause	yes	AN
Prevotella	4.64	1.28	3.62	2.93E-04	2.47E-03	premenopause	yes	AN
Gemella	3.98	1.09	3.65	2.63E-04	2.38E-03	premenopause		AN (F)
Campylobacter	5.75	1.10	5.25	1.54E-07	4.54E-06	premenopause	yes	AE (M)
Cutibacterium	-1.22	0.47	-2.59	9.56E-03	4.18E-02	premenopause		AN (AEt)
Moryella	3.26	0.84	3.89	1.01E-04	1.08E-03	premenopause		AN
Peptococcus	4.15	0.88	4.72	2.37E-06	3.50E-05	premenopause	yes	AN
Dialister	4.09	0.84	4.86	1.17E-06	1.96E-05	premenopause	yes	AN
Peptostreptococcus	8.12	0.63	12.87	6.80E-38	8.03E-36	premenopause	yes	AN
Porphyromonas	5.81	0.74	7.89	3.09E-15	1.83E-13	premenopause	yes	AN
Escherichia-Shigella	-2.85	0.64	-4.43	9.28E-06	1.10E-04	premenopause	yes	AN (F)
Pseudomonas	-1.57	0.53	-2.99	2.83E-03	1.45E-02	premenopause	yes	AE
Staphylococcus	-2.63	0.81	-3.23	1.22E-03	7.56E-03	premenopause	yes	AN (F)
Stomatobaculum	4.77	1.27	3.75	1.76E-04	1.74E-03	premenopause		AN
Fastidiosipila	3.05	1.07	2.85	4.40E-03	2.08E-02	premenopause		AN
Fenollaria	3.76	1.15	3.27	1.08E-03	7.07E-03	premenopause		AN
Rheinheimera	-1.10	0.36	-3.01	2.59E-03	1.39E-02	premenopause		AE
Fusobacterium	5.69	1.07	5.32	1.05E-07	4.11E-06	premenopause	yes	AN
Lactobacillus	-4.98	1.46	-3.42	6.27E-04	4.46E-03	premenopause	yes	AN (AEt)
Solobacterium	4.76	0.92	5.16	2.51E-07	5.92E-06	premenopause	yes	AN
Mobiluncus	2.94	0.86	3.43	5.97E-04	4.46E-03	premenopause		AN

Coef - beta coefficient in ANCOM-BC log-linear model, se - standard error, test-statistic - test statistic for beta coefficient, p-value - p-value for beta coefficient, adj p-value - p-value adjusted for multiple comparison, AN, anaerobic; AE, aerobic; AN (AEt), aerotolerant anaerobic; AN (F), facultatively anaerobic; AE (M), microaerophilic.

polymicrobial CM in both pre- and postmenopausal patients likely relates to cervical cancer.

While cervical mucosal community type (CT) dominated by several sub-genera, and *Lactobacillus* OTUs was associated with CIN 2+ (42), lactobacilli did not differentiate patients with CIN2:3-CC from controls (43); instead, an unclassified species within the genus Gardnerella was more abundant in the control group (43). In BV, the most abundant bacteria belong to the genera Corynebacterium, Atopobium, Gardnerella, Mobiluncus, Peptoniphilus, Anaerococcus, Prevotella, Bacteroides, Finegoldia, Sneathia, Lachnospiraceae taxon Lachnovaginosum genomospecies (BVAB1), Eggerthella, and several underrepresented members of Streptococcus, Atopobium, Megasphaera, Leptotrichia, and Staphylococcus (1, 38, 44-47).



treatment, and at 3/6 months post-treatment (C) Chao index- comparison in healthy controls and patients before treatment (B) and in patients before and after treatment, and at 3/6 months post-treatment (D).

Decreased abundance of *Lactobacillus* compromises the acidic vaginal environment, leading to impairment of cervicovaginal mucosal defense mechanisms. Thus, healthy cervicovaginal microbiomes promote health, while disrupted local immune regulation and inflammation in BV are associated with cervicovaginal pathologies such as HPV infection and gynecological cancers (4, 13–19).



A study examining the association between the CM and high-grade cervical intraepithelial neoplasia (CIN 2+) in women infected with high-risk HPV revealed that the alpha and beta diversity of the vaginal microbiota were not associated with either CIN severity or oxidative DNA damage (42). In addition, a case-control analysis (43) of the CM in healthy subjects and patients diagnosed with cervical intraepithelial neoplasia grade 2/3 or invasive cancer (CIN2/3-CC) showed that microbial richness was significantly higher in the CIN2/3-CC group than in the control group, accompanied by an increase in the number of operational taxonomic units (OTUs). Conversely, the diversity index, calculated using the Shannon, Simpson, and Bray-Curtis indices, did not differ significantly between the groups at the phylum or genera levels. Other studies show that bacterial diversity did not differ between healthy individuals and patients with CIN2/3-CC cancer (18, 42). By contrast, species richness was higher in the pre-cancerous and CIN2/3-CC groups than in the control group. Thus, the microbial richness can be considered as an indicator of vaginal health, and variations in diversity may be associated with atypical health conditions (48). In this study, we showed that the microbiome diversity was significantly higher in pre-treatment than in control samples (the Shannon index), but there were no significant differences in species richness (the Chao index). Due to the relatively small groups of our pre- and postmenopausal cancer patients, we did not undertake further analyzes taking into account the FIGO staging, since it resulted in excessive patient stratification. Moreover, probably for similar reasons, no analyzes of the cervical microbiome in relation to the cervical cancer stage were performed in any of the previously published studies.

Therefore, our findings are only partly consistent with those reported in other studies (18, 42, 43, 48). The main differences

Genus	coef II	se II	test statistic II	p-value II	adj p-value II	coef III	se III	test statistic III	p-value III	adj p-value III	Abundant	AE/AN
Staphylococcus	2.91	0.42	6.99	2.81E-12	5.14E-10	0.72	0.35	2.02	4.36E-02	3.07E-01		AN (F)
Cupriavidus	1.67	0.27	6.26	3.76E-10	3.44E-08	0.26	0.27	0.98	3.28E-01	7.42E-01		AE
Methylobacterium- Methylorubrum	1.59	0.26	6.16	7.26E-10	4.43E-08	0.48	0.25	1.92	5.51E-02	3.15E-01		AE
Pseudomonas	2.41	0.40	6.02	1.77E-09	8.11E-08	0.54	0.39	1.38	1.69E-01	5.49E-01	yes	AE
Ralstonia	1.59	0.31	5.21	1.85E-07	6.78E-06	0.46	0.24	1.86	6.23E-02	3.26E-01		AE
Renibacterium	2.03	0.39	5.17	2.30E-07	7.00E-06	0.42	0.28	1.53	1.27E-01	5.01E-01		AE
Stomatobaculum	-2.92	0.58	-5.03	4.90E-07	1.14E-05	-1.84	0.58	-3.20	1.36E-03	7.58E-02		AN
Pelomonas	2.25	0.45	5.03	4.98E-07	1.14E-05	0.20	0.37	0.54	5.92E-01	9.12E-01	yes	AE
Finegoldia	2.68	0.57	4.69	2.69E-06	5.47E-05	2.02	0.53	3.81	1.42E-04	1.30E-02	yes	AN
Streptococcus	3.47	0.77	4.53	5.94E-06	1.09E-04	2.13	0.70	3.03	2.48E-03	7.58E-02	yes	AN (F)
Rheinheimera	1.57	0.35	4.50	6.83E-06	1.14E-04	0.36	0.30	1.22	2.23E-01	6.18E-01		AE
Diaphorobacter	1.22	0.28	4.34	1.42E-05	2.17E-04	0.29	0.23	1.25	2.10E-01	5.96E-01		AE
Caulobacter	1.37	0.32	4.28	1.90E-05	2.67E-04	0.12	0.34	0.36	7.21E-01	9.20E-01		AE
Cloacibacterium	1.87	0.45	4.16	3.15E-05	4.11E-04	0.42	0.34	2.08	3.73E-02	2.84E-01		AN (F)
Fusobacterium	-2.78	0.67	-4.15	3.39E-05	4.11E-04	-2.11	0.68	-3.10	1.96E-03	7.58E-02	yes	AN
Sphingomonas	1.05	0.25	4.13	3.59E-05	4.11E-04	0.00	0.23	-0.01	9.89E-01	9.89E-01		AE
Acinetobacter	2.05	0.50	4.11	3.89E-05	4.19E-04	0.38	0.40	0.96	3.39E-01	7.47E-01		AE
Cutibacterium	1.37	0.34	4.01	6.01E-05	6.11E-04	0.46	0.27	1.70	8.94E-02	3.99E-01		AN (AEt)
Corynebacterium	2.49	0.66	3.79	1.51E-04	1.39E-03	2.07	0.74	2.81	4.90E-03	8.15E-02	yes	AE
Solobacterium	-2.61	0.69	-3.79	1.49E-04	1.39E-03	-2.69	0.69	-3.90	9.59E-05	1.30E-02		AN
Prevotella	-1.75	0.51	-3.42	6.33E-04	5.52E-03	-1.50	0.61	-2.45	1.44E-02	1.61E-01	yes	AN
Lactococcus	1.65	0.55	2.99	2.79E-03	2.32E-02	0.11	0.42	0.26	7.97E-01	9.34E-01		AN (F)
Massilia	1.13	0.38	2.97	3.01E-03	2.39E-02	0.23	0.26	0.86	3.88E-01	8.22E-01		AE
Peptococcus	-1.89	0.66	-2.85	4.39E-03	3.35E-02	-2.07	0.72	-2.89	3.81E-03	7.58E-02	yes	AN
Bulleidia	-1.14	0.40	-2.80	5.04E-03	3.69E-02	-0.64	0.34	-1.87	6.18E-02	3.26E-01		AN
Olsenella	-1.24	0.45	-2.76	5.85E-03	3.83E-02	-0.99	0.38	-2.62	8.92E-03	1.26E-01		AN
Porphyromonas	-1.54	0.56	-2.76	5.72E-03	3.83E-02	-0.78	0.63	-1.25	2.12E-01	5.96E-01	yes	AN
Neisseria	0.98	0.35	2.78	5.49E-03	3.83E-02	0.27	0.25	1.11	2.65E-01	6.38E-01		AE
Muribaculum	0.56	0.21	2.70	6.99E-03	4.30E-02	-0.06	0.23	-0.26	7.93E-01	9.34E-01		AN
Blautia	0.86	0.32	2.69	7.04E-03	4.30E-02	0.33	0.41	0.79	4.28E-01	8.49E-01		AN
Pedobacter	0.94	0.35	2.66	7.83E-03	4.62E-02	0.03	0.25	0.13	8.95E-01	9.66E-01		AN (F)

TABLE 3 Bacteria on genus level differentiating pretreatment samples and posttreatment samples (after treatment and 3-month post-treatment).

Coef-beta coefficient in ANCOM-BC log-linear model, se -standard error, test- statistic – test statistic for beta coefficient, p-value – p-value for beta coefficient, adj p-value – p-value adjusted for multiple comparisons, AN, anaerobic; AE, aerobic; AN (AEt), aerotolerant anaerobic; AN (F), facultatively anaerobic.

relate to diversity and richness. While we found that the CM diversity in pre-treatment cancer samples was significantly higher than that in control samples and that there were no significant differences regarding species richness, earlier studies report the opposite. In addition, we detected lactobacilli depletion and accompanied increased abundance of anaerobic bacteria in women with cervical cancer only in premenopausal patients, while lactobacill depletion and anaerobes abundance did not differ between postmenopausal patients and controls. These findings are in accordance with prior studies (49, 50), where increased abundance of anaerobic bacteria were detected in women with cervical disease.

CRT and RT are curative or palliative therapies for gynecologic cancer that may disturb the composition of the

vaginal microbiome (21). We showed that 31 genera, of which *Streptococcus, Prevotella, Fusobacterium, Porphyromonas*, and *Finegoldia* were the most abundant, differentiated pre- and post-radiation samples, and only 2 differentiated pre-radiation and follow-up samples. However, neither microbiome diversity nor microbiome richness differentiated pre-treatment samples from post-treatment samples, either at the end of the therapy or 3 and 6 months later.

A previous pilot study (4) showed a strong reduction in cervical bacterial load after RT. Just like in our study, neither alpha nor beta diversity differed significantly when pre-radiation with post-radiation samples were compared, which, as suggested, might be due to the small number of samples and inter-individual differences in CM profiles. Another study (22) comparing the vaginal microbiome in



months follow-up. (B) Differences between abundances of anaerobic, aerobic and facultatively anaerobic bacteria in patients pre-treatment, after treatment and in 3/6 months follow-up.

gynecological cancer patients before and at 1-2 months after RT reported that most post-RT microbiota communities did not overlap with normal microbiomes. In addition, there was a trend toward lower microbial richness in healthy samples relative to gynecological cancer samples, and 13 phylogroups on the genus level differentiated pre-RT samples from post-RT samples. A recently published study (51) reported significant differences in the vaginal microbiome between patients with cervical cancer receiving pelvic CRT and healthy controls, and again, no significant differences in bacterial richness and alpha and beta diversity between radiation treatment time points. However, the relative abundances of Gammaproteobacteria, Gemmatimonadetes, Gemmatimonadales, Pseudomonadales, Gemmatimonadaceae, Rikenellaceae, Acinetobacter, Desulfovibrio, Prevotella 9, Rikenellaceae RC9 gut group, and Turicibacter increased with time.

Although there are some inconsistencies between our results and those mentioned above (4, 21), the presence of cervical cancer-related dysbiosis is obvious and the association between BV and cancer risk is well documented (18, 39). Nevertheless, our understanding of the role of cervicovaginal dysbiosis in the development and progression of gynecological cancer is limited. Therefore, we can only speculate that chemoradiation and radiation treatment trigger a synergistic effect between cervicovaginal dysbiosis and immune activation (4). However, it cannot be ruled out that the changes in the cervical microbiome partly resulted from the presence of tumor necrosis. Most recipients of pelvic radiotherapy develop alterations in the overall composition of the gastrointestinal microbiome, which are associated with decreased gut microbiome diversity (52, 53). In turn, although changes in the CM after chemoradiation treatment for cervical cancer might offer insight into new therapeutic options in the field of gynecological oncology (4), further studies are needed to evaluate this. Research should include larger and diverse groups of women with gynecologic cancers and similarly various groups of healthy women.

Conclusions

While previously published studies evaluated mostly the impact of chemoradiation treatment on the cervicovaginal microbiome (1, 4, 51, 54), our study for the first time compared also cervical microbiota of cancer patients and healthy women divided into pre- and postmenopausal groups. Other studies either did not include comparisons with healthy controls or the control groups were sparse and analyses did not take into account the hormonal status of the women from the compared groups. Despite limitations, which include the small size of the studied groups, reduced number of the follow-up samples taken from cancer patients and lack of information whether and how the HPV status could affect the cervical microbiome in our cancer patients, the study allowed for several conclusions. While the cervicovaginal microbiome is required to maintain vaginal homeostasis, analysis of the bacterial 16S rRNA gene revealed significant changes in the CM of cervical cancer patients shifting toward polymicrobial overgrowth, which is accompanied by a reduced abundance of Lactobacillus, at least in premenopausal patients. Our data provide additional evidences on differences in microbiome composition between pre- and postmenopausal healthy women as well as between pre- and post-treatment cancer samples, which may relate to CRT.

However, further research is needed to determine whether alteration of the cervicovaginal microbiome may offer new therapeutic options leading to a promising strategy. If so, identification of cervicovaginal dysbiosis, related to gynaecological cancers, can be considered an interesting field of investigation.

Data availability statement

The datasets presented in this study can be found in online repositories. The names of the repository/repositories and accession number(s) can be found below: https://www.ebi.ac.uk/ena, PRJEB43410.

Ethics statement

The studies involving human participants were reviewed and approved by Bioethics Committee at the Maria Sklodowska-Curie National Research Institute of Oncology (69/2017 dated 06.07.2017). The patients/participants provided their written informed consent to participate in this study.

Author contributions

Conceptualization, JO and MB; methodology, JO; software, MK; formal analysis, MK and JO, investigation, NZ-L and AP; resources, MB, BL, RK, and AN; data curation, MK; writing original draft preparation, JO; writing—review and editing, MK and NZ-L; visualization, MK; supervision, JO; project administration, NZ-L; funding acquisition, JO. All authors have read and agreed to the published version of the manuscript.

Funding

This work was financed by the National Science Center [2017/27/B/NZ5/01504].

References

1. Bai J, Jhaney I, Daniel G, Bruner DW. Pilot study of vaginal microbiome using QIIME 2^{TM} in women with gynecologic cancer before and after radiation therapy. *Oncol Nurs Forum* (2019) 46:E48–59. doi: 10.1188/19.ONF.E48-E59

 Michael TF, Ma B. VALENCIA: A nearest centroid classification method for vaginal microbial communities based on composition. *Microbiome* (2020) 8:166. doi: 10.1186/s40168-020-00934-6

3. Xu Z, Knight R. Dietary effects on human gut microbiome diversity. *Br J Nutr* (2015) 113 Suppl:S1–5. doi: 10.1017/S0007114514004127

4. Tsakmaklis A, Vehreschild M, Farowski F, Trommer M, Kohler C, Herter J, et al. Changes in the cervical microbiota of cervical cancer patients after primary radio-chemotherapy. *Int J Gynecol Cancer* (2020) 30:1326–30. doi: 10.1136/ijgc-2019-000801

5. Komesu YM, Dinwiddie DL, Richter HE, Lukacz ES, Sung VW, Siddiqui NY, et al. Defining the relationship between vaginal and urinary microbiomes. *Am J Obstet Gynecol* (2020) 222:154.e1-154.e10. doi: 10.1016/j.ajog.2019.08.011

6. Alizadehmohajer N, Shojaeifar S, Nedaeinia R, Esparvarinha M, Mohammadi F, Ferns GA, et al. Association between the microbiota and women's cancers – cause or consequences? *Biomed Pharmacother* (2020) 127:110203. doi: 10.1016/j.biopha.2020.110203

7. Zhou Z-W, Long H-Z, Cheng Y, Luo H-Y, Wen D-D, Gao L-C. From microbiome to inflammation: The key drivers of cervical cancer. *Front Microbiol* (2021) 12:767931. doi: 10.3389/fmicb.2021.767931

8. Gupta P, Singh MP, Goyal K. Diversity of vaginal microbiome in pregnancy: Deciphering the obscurity. *Front Public Health* (2020) 8:326. doi: 10.3389/fpubh.2020.00326

9. Castanheira CP, Sallas ML, Nunes RAL, Lorenzi NPC, Termini L. Microbiome and cervical cancer. *PAT* (2021) 88:182–92. doi: 10.1159/000511477

Conflict of interest

The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's note

All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Supplementary material

The Supplementary Material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/ fonc.2022.1005537/full#supplementary-material

SUPPLEMENTARY TABLE 1

Bacterial counts from MEGAN used to generate

SUPPLEMENTARY TABLE 2

Results of comparison between healthy controls and post-treatment patients.

10. Brotman RM, Ravel J, Cone RA, Zenilman JM. Rapid fluctuation of the vaginal microbiota measured by gram stain analysis. *Sex Transm Infect* (2010) 86:297–302. doi: 10.1136/sti.2009.040592

11. Hay PE, Ugwumadu A, Chowns J. Sex, thrush and bacterial vaginosis. Int J STD AIDS (1997) 8:603–8. doi: 10.1258/0956462971918850

12. Keane FE, Ison CA, Taylor-Robinson D. A longitudinal study of the vaginal flora over a menstrual cycle. *Int J STD AIDS* (1997) 8:489–94. doi: 10.1258/0956462971920631

13. Champer M, Wong AM, Champer J, Brito IL, Messer PW, Hou JY, et al. The role of the vaginal microbiome in gynaecological cancer. *BJOG: Int J Obstetrics Gynaecol* (2018) 125:309–15. doi: 10.1111/1471-0528.14631

14. Mitra A, MacIntyre DA, Marchesi JR, Lee YS, Bennett PR, Kyrgiou M. The vaginal microbiota, human papillomavirus infection and cervical intraepithelial neoplasia: what do we know and where are we going next? *Microbiome* (2016) 4:58. doi: 10.1186/s40168-016-0203-0

15. Brusselaers N, Shrestha S, van de Wijgert J, Verstraelen H. Vaginal dysbiosis and the risk of human papillomavirus and cervical cancer: systematic review and meta-analysis. *Am J Obstet Gynecol* (2019) 221:9–18.e8. doi: 10.1016/j.ajog.2018.12.011

16. Kyrgiou M, Mitra A, Moscicki A-B. Does the vaginal microbiota play a role in the development of cervical cancer? *Transl Res* (2017) 179:168–82. doi: 10.1016/j.trsl.2016.07.004

17. King CC, Jamieson DJ, Wiener J, Cu-Uvin S, Klein RS, Rompalo AM, et al. Bacterial vaginosis and the natural history of human papillomavirus. *Infect Dis Obstet Gynecol* (2011) 2011:319460. doi: 10.1155/2011/319460

18. Kwon M, Seo S-S, Kim MK, Lee DO, Lim MC. Compositional and functional differences between microbiota and cervical carcinogenesis as

identified by shotgun metagenomic sequencing. Cancers (Basel) (2019) 11(3):309. doi: 10.3390/cancers11030309

19. Mitra A, MacIntyre DA, Mahajan V, Lee YS, Smith A, Marchesi JR, et al. Comparison of vaginal microbiota sampling techniques: cytobrush versus swab. *Sci Rep* (2017) 7:9802. doi: 10.1038/s41598-017-09844-4

20. So KA, Yang EJ, Kim NR, Hong SR, Lee J-H, Hwang C-S, et al. Changes of vaginal microbiota during cervical carcinogenesis in women with human papillomavirus infection. *PLoS One* (2020) 15:e0238705. doi: 10.1371/journal.pone.0238705

21. Muls A, Andreyev H, Lalondrelle S, Taylor A, Norton C, Hart A. Systematic review: the impact of cancer treatment on the gut and vaginal microbiome in women with a gynaecological malignancy. *Int J Gynecol Cancer* (2017) 27:1550–9. doi: 10.1097/IGC.00000000000999

22. Tsementzi D, Pena-Gonzalez A, Bai J, Hu Y, Patel P, Shelton J, et al. Comparison of vaginal microbiota in gynecologic cancer patients pre- and post-radiation therapy and healthy women. *Cancer Med* (2020) 9:3714–24. doi: 10.1002/cam4.3027

23. Harlow SD, Gass M, Hall JE, Lobo R, Maki P, Rebar RW, et al. Executive summary of the stages of reproductive aging workshop + 10: addressing the unfinished agenda of staging reproductive aging. *Menopause* (2012) 19:387–95. doi: 10.1097/gme.0b013e31824d8f40

24. Jach R, Sznurkowski JJ, Bidziński M, Misiek M, Knapp P, Bodnar L, et al. Recommendations of the polish gynecological oncology society for the diagnosis andtreatment of cervical cancer. *Curr Gynecol Oncol* (2017) 15:24–33. doi: 10.15557/ CGO.2017.0002

25. Kulecka M, Fraczek B, Mikula M, Zeber-Lubecka N, Karczmarski J, Paziewska A, et al. The composition and richness of the gut microbiota differentiate the top polish endurance athletes from sedentary controls. *Gut Microbes* (2020) 11:1374–84. doi: 10.1080/19490976.2020.1758009

26. Zeber-Lubecka N, Kulecka M, Ambrozkiewicz F, Paziewska A, Goryca K, Karczmarski J, et al. Limited prolonged effects of rifaximin treatment on irritable bowel syndrome-related differences in the fecal microbiome and metabolome. *Gut Microbes* (2016) 7:397–413. doi: 10.1080/19490976.2016.1215805

27. Kulecka M, Paziewska A, Zeber-Lubecka N, Ambrozkiewicz F, Kopczynski M, Kuklinska U, et al. Prolonged transfer of feces from the lean mice modulates gut microbiota in obese mice. *Nutr Metab (Lond)* (2016) 13:57. doi: 10.1186/s12986-016-0116-8

28. Zeber-Lubecka N, Kulecka M, Ambrozkiewicz F, Paziewska A, Lechowicz M, Konopka E, et al. Effect of saccharomyces boulardii and mode of delivery on the early development of the gut microbial community in preterm infants. *PLoS One* (2016) 11:e0150306. doi: 10.1371/journal.pone.0150306

29. Picard2018toolkit. Available at: http://broadinstitute.github.io/picard/.

30. Schloss PD, Westcott SL, Ryabin T, Hall JR, Hartmann M, Hollister EB, et al. Introducing mothur: open-source, platform-independent, community-supported software for describing and comparing microbial communities. *Appl Environ Microbiol* (2009) 75:7537–41. doi: 10.1128/AEM.01541-09

31. Edgar RC, Haas BJ, Clemente JC, Quince C, Knight R. UCHIME improves sensitivity and speed of chimera detection. *Bioinformatics* (2011) 27:2194–200. doi: 10.1093/bioinformatics/btr381

32. Quast C, Pruesse E, Yilmaz P, Gerken J, Schweer T, Yarza P, et al. The SILVA ribosomal RNA gene database project: improved data processing and webbased tools. *Nucleic Acids Res* (2013) 41:D590–6. doi: 10.1093/nar/gks1219

33. DeSantis TZ, Hugenholtz P, Larsen N, Rojas M, Brodie EL, Keller K, et al. Greengenes, a chimera-checked 16S rRNA gene database and workbench compatible with ARB. *Appl Environ Microbiol* (2006) 72:5069–72. doi: 10.1128/AEM.03006-05

34. Kozich JJ, Westcott SL, Baxter NT, Highlander SK, Schloss PD. Development of a dual-index sequencing strategy and curation pipeline for analyzing amplicon sequence data on the MiSeq illumina sequencing platform. *Appl Environ Microbiol* (2013) 79:5112–20. doi: 10.1128/AEM.01043-13

35. Huson DH, Auch AF, Qi J, Schuster SC. MEGAN analysis of metagenomic data. *Genome Res* (2007) 17:377–86. doi: 10.1101/gr.5969107

36. Lin H, Peddada SD. Analysis of compositions of microbiomes with bias correction. *Nat Commun* (2020) 11:3514. doi: 10.1038/s41467-020-17041-7

37. Ward T, Larson J, Meulemans J, Hillmann B, Lynch J, Sidiropoulos D, et al. BugBase predicts organism-level microbiome phenotypes. *bioRxiv* (2017), 133462. doi: 10.1101/133462

38. Hyman RW, Fukushima M, Diamond L, Kumm J, Giudice LC, Davis RW. Microbes on the human vaginal epithelium. *Proc Natl Acad Sci U.S.A.* (2005) 102:7952–7. doi: 10.1073/pnas.0503236102

39. Khan I, Nam M, Kwon M, Seo S, Jung S, Han JS, et al. LC/MS-based polar metabolite profiling identified unique biomarker signatures for cervical cancer and cervical intraepithelial neoplasia using global and targeted metabolomics. *Cancers (Basel)* (2019) 11(4):511. doi: 10.3390/cancers11040511

40. Muhleisen AL, Herbst-Kralovetz MM. Menopause and the vaginal microbiome. *Maturitas* (2016) 91:42-50. doi: 10.1016/j.maturitas.2016.05.015

41. Brotman RM, Shardell MD, Gajer P, Fadrosh D, Chang K, Silver MI, et al. Association between the vaginal microbiota, menopause status, and signs of vulvovaginal atrophy. *Menopause* (2014) 21:450–8. doi: 10.1097/GME. 0b013e3182a4690b

42. Piyathilake CJ, Ollberding NJ, Kumar R, Macaluso M, Alvarez RD, Morrow CD. Cervical microbiota associated with higher grade cervical intraepithelial neoplasia in women infected with high-risk human papillomaviruses. *Cancer Prev Res (Phila)* (2016) 9:357–66. doi: 10.1158/1940-6207.CAPR-15-0350

43. Tango CN, Seo S-S, Kwon M, Lee D-O, Chang HK, Kim MK. Taxonomic and functional differences in cervical microbiome associated with cervical cancer development. *Sci Rep* (2020) 10:9720. doi: 10.1038/s41598-020-66607-4

44. Zhou X, Bent SJ, Schneider MG, Davis CC, Islam MR, Forney LJ. Characterization of vaginal microbial communities in adult healthy women using cultivation-independent methods. *Microbiol (Reading)* (2004) 150:2565–73. doi: 10.1099/mic.0.26905-0

45. Ravel J, Gajer P, Abdo Z, Schneider GM, Koenig SSK, McCulle SL, et al. Vaginal microbiome of reproductive-age women. *Proc Natl Acad Sci U.S.A.* (2011) 108 Suppl 1:4680–7. doi: 10.1073/pnas.1002611107

46. Forney LJ, Foster JA, Ledger W. The vaginal flora of healthy women is not always dominated by lactobacillus species. *J Infect Dis* (2006) 194:1468–91469–70. doi: 10.1086/508497

47. Klein C, Kahesa C, Mwaiselage J, West JT, Wood C, Angeletti PC. How the cervical microbiota contributes to cervical cancer risk in Sub-Saharan Africa. *Front Cell Infect Microbiol* (2020) 10:23. doi: 10.3389/fcimb.2020.00023

48. D'Argenio V, Salvatore F. The role of the gut microbiome in the healthy adult status. *Clin Chim Acta* (2015) 451:97–102. doi: 10.1016/j.cca.2015.01.003

49. Mitra A, MacIntyre DA, Lee YS, Smith A, Marchesi JR, Lehne B, et al. Cervical intraepithelial neoplasia disease progression is associated with increased vaginal microbiome diversity. *Sci Rep* (2015) 5:16865. doi: 10.1038/srep16865

50. Sodhani P, Gupta S, Gupta R, Mehrotra R. Bacterial vaginosis and cervical intraepithelial neoplasia: Is there an association or is Co-existence incidental? *Asian Pac J Cancer Prev* (2017) 18:1289–92. doi: 10.22034/APJCP.2017.18.5.1289

51. Jiang L, Li B, Zhang Y, Ma S, Liu C, Liang F, et al. Influence of pelvic intensity-modulated radiation therapy with concurrent cisplatin-based chemotherapy of cervical cancer on the vaginal microbiome. *Front Oncol* (2021) 11:615439. doi: 10.3389/fonc.2021.615439

52. Wang Z, Wang Q, Wang X, Zhu L, Chen J, Zhang B, et al. Gut microbial dysbiosis is associated with development and progression of radiation enteritis during pelvic radiotherapy. *J Cell Mol Med* (2019) 23:3747–56. doi: 10.1111/jcmm.14289

53. Coleman CN, Hoppe RT, Metz JM, Eli J. Glatstein: A steward extraordinaire of radiation oncology. *Int J Radiat Oncol Biol Physics* (2020) 107:1–5. doi: 10.1016/ j.ijrobp.2020.01.016

54. Mubangizi L, Namusoke F, Mutyaba T. Aerobic cervical bacteriology and antibiotic sensitivity patterns in patients with advanced cervical cancer before and after radiotherapy at a national referral hospital in Uganda. *Int J Gynecol Obstetrics* (2014) 126:37–40. doi: 10.1016/j.ijgo.2014.01.013